
MATHS

BOOKS - NAVBODH MATHS (HINGLISH)

COORDINATE GEOMETRY

6 1 1 Mark Each

1. Distance of point (-3,4) from the origin is

……….

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gyPZwzYmjFvb


A. 7

B. 1

C. 5

D. 4

Answer: C

Watch Video Solution

2. Seg AB is parallel to the Y-xais and

coordinates of the point A are 

https://dl.doubtnut.com/l/_gyPZwzYmjFvb
https://dl.doubtnut.com/l/_xi2l0d1m5ZNz


(1,3) then coordinates of the point B each can

be _ _ _ _ _ _ _ _

A. (3,1)

B. (5,3)

C. (3,0)

D. (1,-3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xi2l0d1m5ZNz


3. If P is the midpoint of line segment AB with

A(-4 ,2) and B(6m2) 

then coordinates of the point P are _ _ _ _ _ _ _

A. (1,2)

B. (2,1)

C. (2,0)

D. (0,2)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_T0S1jMPmeQp7


4. The line segment joining the points (-3,-4)

and (1, -2) is 

divided by Y-axis in the ratio.

A. 

B. 

C. 

D. 1:3`

Answer: C

Watch Video Solution

2: 3

3: 2

3: 1

https://dl.doubtnut.com/l/_VF8I7RVmmtDX


5. If point P(-4,6) divides the line segment AB

with A(-6,10) in the 

ratio  , then coordinates of the point B are

_ _ _ _ _ _ _ _

A. (4,3)

B. (3,-4)

C. (3,4)

D. (-3,4)

Answer: D

Watch Video Solution

2: 1

https://dl.doubtnut.com/l/_A4NCH6kHljTf


6. The slope of X-axis is _ _ _ _ _ _

A. 1

B. 0

C. undefined

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_A4NCH6kHljTf
https://dl.doubtnut.com/l/_G23Qkp75RIJL
https://dl.doubtnut.com/l/_aQUBLoIitdKX


7. The slope of line joining point P(-1,1) and Q

(5,-7) is _ _ _ _ _ _ _ _

A. 

B. 16

C. -3

D. -2

Answer: A

Watch Video Solution

−
4
3

https://dl.doubtnut.com/l/_aQUBLoIitdKX


8. The distance between the point

 is _ _ _ _ _ _

A. 11

B. 10

C. 5

D. 7

Answer: B

Watch Video Solution

P ( − 1, 1) and Q(5, − 7)

https://dl.doubtnut.com/l/_bYGYXlbfGZy6
https://dl.doubtnut.com/l/_2cnbCe57WnRG


9.  and D (1,7) are the

vertices of the parallelogram . 

Find the coordinates of the point of

intersection of its diagonals .

A. (6,12)

B. (12,6)

C. (3,6)

D. (6,3)

Answer: C

Watch Video Solution

A(4, 8), B(5, 5), C(2, 4)

https://dl.doubtnut.com/l/_2cnbCe57WnRG


6 2 1 Mark Each

1. If L(5,-8) and M (-7,-3) then the distance

between points 

L and M is _ _ _ _ _ _

Watch Video Solution

2. Write the coodinates of midpoint of the

segment joining (4,5) and (12,15).

Watch Video Solution

https://dl.doubtnut.com/l/_2cnbCe57WnRG
https://dl.doubtnut.com/l/_4hs4AEXHjyTu
https://dl.doubtnut.com/l/_msZ4aAqE41Ve


3. Write is the slope of the line which makes an

angle of  with positive direction of X-axis .

Watch Video Solution

60∘

4. Wrtie the slope of X-axis and Y-axis .

Watch Video Solution

https://dl.doubtnut.com/l/_msZ4aAqE41Ve
https://dl.doubtnut.com/l/_jb1Nk1qTubjU
https://dl.doubtnut.com/l/_yZ40w0FshJYM


6 3 1 Mark Each

5. Wrtie down the coordinates of centroid of

the triangle whose vertices 

(4,7),(8,4) and (7,11).

Watch Video Solution

1. Determine whether the points A(1, -3) , B(2,-5)

and 

C(-4,7) are collinear or not .

https://dl.doubtnut.com/l/_lfJ5YTWEZ3Zc
https://dl.doubtnut.com/l/_DEzx5wYrDXL0


Watch Video Solution

2. Find the distance between A(2,3) and B(4,1).

Watch Video Solution

3. find the coordinates of poiny P, iff P divides

the line segment 

joining the point A(-2,7) and B(4,-3) in the ratio

 .

Watch Video Solution

2: 3

https://dl.doubtnut.com/l/_DEzx5wYrDXL0
https://dl.doubtnut.com/l/_PdCWPSLwoz11
https://dl.doubtnut.com/l/_Oth8l0hqZZoe


4. Find the ratio in which point P (k,7) divides

the segment joining 

A(8,9) and B(1,2) .

Watch Video Solution

5. Find the coordintes of the midpoint of the

segment joining 

P(0,6) and Q (12 ,20).

Watch Video Solution

https://dl.doubtnut.com/l/_5GIESN8oGE15
https://dl.doubtnut.com/l/_QqYopB496g2O
https://dl.doubtnut.com/l/_UrRgdzGRgNEt


6. Find the centroids of the triangles whose

vertices have the 

coordinates  and (8,5).

Watch Video Solution

( − 7, 6)(2, − 2)

7. Find k, If B (k, - 5), C (1,2) and slope of the line

is 7.

Watch Video Solution

https://dl.doubtnut.com/l/_UrRgdzGRgNEt
https://dl.doubtnut.com/l/_Tna1jAx0AdjG


8. Find the slope of a lline passing through the

point A(3,1) and B (5,3) .

Watch Video Solution

9. Find k, if PQ  and P(2,4), Q (3,6), R (3,1),

S(5,k).

Watch Video Solution

∣ ∣ RS

https://dl.doubtnut.com/l/_IkpENuvhhG3J
https://dl.doubtnut.com/l/_rsriqjWRrrfG


10. If P (-6,-3) and Q (-1, 9), then complete the

following 

acitvity to find PQ .

Watch Video Solution

11. The angle made by a line with the positive

direction of X-axis is 

 . Complete the following activity to find

the slope of the line .

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_ui1rSplp7ifa
https://dl.doubtnut.com/l/_LcQ4TXwI6Fas


6 4 1 Mark Each

12. Complete the table below the graph with

the help of the following graph Write your

observation from the table .

View Text Solution

1. Show that the points (2,0), (-2,0) and (0,2)

are the vertices of 

https://dl.doubtnut.com/l/_LcQ4TXwI6Fas
https://dl.doubtnut.com/l/_beBC6OrwIZAm
https://dl.doubtnut.com/l/_qKqt3ES9UDgI


a triangle. Also state with reason the type of

the triangle .

Watch Video Solution

2. Find the point on the X-axis which is

equidistant from (-3,4) 

and B(1,-4).

Watch Video Solution

https://dl.doubtnut.com/l/_qKqt3ES9UDgI
https://dl.doubtnut.com/l/_I0jFA1ySQv29


3. Show that the points A(1,2),B(1,6),

 are the 

vertices of an equilateral triangle .

Watch Video Solution

C(1 + 2√3, 4)

4. A(h,-6),B(2,3) and C(-6,k) are the coordinates

of vertices 

of a triangle whose centroid is G(1,5). Find h

and k.

Watch Video Solution

https://dl.doubtnut.com/l/_BCvHHaHpWTnh
https://dl.doubtnut.com/l/_K3FJ8lak6MlU


5. Using slope concept , determine whether

R(1,-4), S(-2,2) 

and T(-3,4) are collinear or not .

Watch Video Solution

6. Show that the line joining the points A(4,8)

and B(5,5) is parallel 

to the line joining the points C(2,4) and D(1,7).

Watch Video Solution

https://dl.doubtnut.com/l/_K3FJ8lak6MlU
https://dl.doubtnut.com/l/_GIONF2hoG7kc
https://dl.doubtnut.com/l/_PMUdXSXYSuKk


7. Given A(4,-3) ,B (8,5) . Find the coordinates of

the point that 

divides segment AB in the ratio 

Watch Video Solution

3: 1

8. Find the ratio in which point P(6,7) divides

the segment joining 

A(8,9) and B(1,2) by completing the following

activity .

Watch Video Solution

https://dl.doubtnut.com/l/_oj1ssElCjpKs
https://dl.doubtnut.com/l/_pquhAbxQ4s5A


6 5 1 Mark Each

9. If the points A(-4, -2) , B (-3,-7) , C(3,-2) and

D(2,3) are 

joined serially , find the type of quadrilateral

ABCD by completing 

the following activity.

Watch Video Solution

https://dl.doubtnut.com/l/_pquhAbxQ4s5A
https://dl.doubtnut.com/l/_IFicMuBoSiRB


1. Find the coordinates of centre of the circle

passing through the 

points P(6,-6),Q (3,-7) and R(3,3)

Watch Video Solution

2. Show that points P(2,-2) , Q (7,3) ,R(11,-1) and

S(6,-6) 

are vertices of a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_yyIEsVwecav9
https://dl.doubtnut.com/l/_ArNZpYX35jYU
https://dl.doubtnut.com/l/_TZAu7eTFVMbT


Assignment 6 1

3. Find the lengths of the medians of triangle

whose vertices are 

A (-1,1) , B (5,-3) and C (3,5).

Watch Video Solution

1. The distance between the point (-6,8) and

the origin is _ _ _ _ _ _

A. 11

https://dl.doubtnut.com/l/_TZAu7eTFVMbT
https://dl.doubtnut.com/l/_olPpS48PtmRD


B. 

C. 

D. 

Answer: B

Watch Video Solution

10

5

7

2. A line makes an anlge of  with the

positive direction of X-axis. 

So the slope of the line is _ _ _ _ _ _ _ _

30∘

https://dl.doubtnut.com/l/_olPpS48PtmRD
https://dl.doubtnut.com/l/_JaxnmBmnOARz


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

√3

2

1

√3

√3

3. If the slope of a line is , the angle made

by the line with the 

positive direction of X-axis is _ _ _ _ _ _

√3

https://dl.doubtnut.com/l/_JaxnmBmnOARz
https://dl.doubtnut.com/l/_v1XAlqhgnH9g


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

30∘

45∘

90∘

4. A(4,7) and B (2,1), P(3,a) is the midpoint of

seg AB, then the value of a is _ _ _ _ _ _

https://dl.doubtnut.com/l/_v1XAlqhgnH9g
https://dl.doubtnut.com/l/_cJwAx6qyBSc2


A. 4

B. 8

C. 6

D. 3

Answer: A

Watch Video Solution

5. The sum of the x-coordinates of the vertices

of the triangle is 15 and 

https://dl.doubtnut.com/l/_cJwAx6qyBSc2
https://dl.doubtnut.com/l/_jjd7vhYdWXEl


that of y-coordinates is 21. The coordinates of

centroid are _ _ _ _ _ _ _

A. (15,21)

B. (5,7)

C. (21,15)

D. (7,5)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jjd7vhYdWXEl


6. The slope of segment joining the points (2,k)

and (-4,2) is . 


Find the value of k .

A. 2

B. 3

C. -4

D. 5

Answer: D

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_6aAzvpu6VTj5


7. If A (1,3),B(-1,2),C(2,5) and D(x,4) the vertices

of  

them find the value of x .

A. 0

B. 5

C. 6

D. 7

Answer: A

Watch Video Solution

□ ABCD

https://dl.doubtnut.com/l/_CGaaaF3XtgxA


Assignment 6 2

1. If  and X(11,4) then the distance

between points W and X is _ _ _ _ _ _ _ _ _ _

Watch Video Solution

W( , 4)
−7
2

2. Write the slope of line passing through

P(-3,1) and Q(5-2).

Watch Video Solution

https://dl.doubtnut.com/l/_mPKaEDKNyefV
https://dl.doubtnut.com/l/_oH0vZ1EtP9Zi
https://dl.doubtnut.com/l/_kh1XxyVnX3dd


3. Write the coordinates of controid of the

triangle passing through 

(3,-5),(4,3) and (11,-4)

Watch Video Solution

4. What is the slope of the line parallel to X-

axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_kh1XxyVnX3dd
https://dl.doubtnut.com/l/_ItrzfcCUKFjj


Assignment 6 3

5. What is the slope of the line perpendicular

to X-asis?

Watch Video Solution

1. Find the slope of line passing through

L(-2,-3) and M(-6,-8).

Watch Video Solution

https://dl.doubtnut.com/l/_I9ZVpSNVyD5A
https://dl.doubtnut.com/l/_YMnMD9YDrpgI
https://dl.doubtnut.com/l/_zp14DQVzDJ1H


2. Find the slope of the line, which makes an

angle of 
 with the positive direction
 of

yaxis measured anticlockwise.

Watch Video Solution

30o

3. Write the coordinates of controid of the

triangle passing through 

(3,-5),(4,3) and (11,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_zp14DQVzDJ1H
https://dl.doubtnut.com/l/_mElBPH0KeDoI
https://dl.doubtnut.com/l/_DutfVjGsltcn


4. If P(-2,-5) and Q(4,3) and point R divides the

segment PQ is 

the ratio  then find the coordinates of

points R.

Watch Video Solution

3: 4

5. Find x,if distance between L (x,7) and M(1,15)

is 10.

Watch Video Solution

https://dl.doubtnut.com/l/_DutfVjGsltcn
https://dl.doubtnut.com/l/_kOgwklMQc3IR


6. Point P is the centre of the circle and AB is a

diameter . Find the 

coordinates of point B. If coordinates of point

A and Pare (2,-3) 

and (-2,0) respectively .

Watch Video Solution

7. In which ratio .Y-axis divides the segment

joining the points A(5,-6) 

and B(-1,-4).

https://dl.doubtnut.com/l/_6tQ8AiK6HsLs
https://dl.doubtnut.com/l/_sxepBj3WOeug


Assignment 6 4

Watch Video Solution

8. Point C lies on a segment joining the points

A(1,1) and B(2,-3) 

and 3AC = BC . Find the coordinates of point C ,

Watch Video Solution

1. Show that point (0,9) is equidistant from

point (-4,1) and (4,1)

https://dl.doubtnut.com/l/_sxepBj3WOeug
https://dl.doubtnut.com/l/_E6onfU9GLdsF
https://dl.doubtnut.com/l/_qVCd1NDBvTgL


Watch Video Solution

2. Examine whethere point (3,3),(-4,-1) and (3,-5)

are the 

vertices of an isosceles triangle .

Watch Video Solution

3. Using slope concept, show the points

P(3,0),Q(6,-2) and 

R(-3,4) are colinear.

https://dl.doubtnut.com/l/_qVCd1NDBvTgL
https://dl.doubtnut.com/l/_CGzqjCMwRlrJ
https://dl.doubtnut.com/l/_YBjIWshEOPnX


Watch Video Solution

4. Show that points A(-5,4),B(-2,-2) and C(3,-12)

are colinear using distance formula .

Watch Video Solution

5. Given that A(-3,8) and B(-5,8) 

Find the coordinates of midpoint of AB .

Watch Video Solution

https://dl.doubtnut.com/l/_YBjIWshEOPnX
https://dl.doubtnut.com/l/_AtBYWOU3If9a
https://dl.doubtnut.com/l/_qkpgi2hEs4br
https://dl.doubtnut.com/l/_TruLceFsoQ7y


6. Given that A(-3,8) and B(-5,8) 

State the y-coordinate of point A and B

Watch Video Solution

7. Given that A(-3,8) and B(-5,8) 

With your observation from , determine to

which axis will 

segment AB be parallel ?

Watch Video Solution

https://dl.doubtnut.com/l/_TruLceFsoQ7y
https://dl.doubtnut.com/l/_C0aKXYlfl8IV


8. Two vertices of a triangle are


 If its centroid is 


find the third vertiex.

Watch Video Solution

(3, − 5)and( − 7, 4).

(2, − 1),

9. Find a
 relation between 
 and 
 such that

the point 
 is
 equidistant from the

points 
and 

Watch Video Solution

x y

(x,  y)

(3,  6) ( − 3,  4)

https://dl.doubtnut.com/l/_m3wI8GqKQX3I
https://dl.doubtnut.com/l/_37Pf5jkrhBPB
https://dl.doubtnut.com/l/_oRttSsulIiM5


10. Point P divides the line segment joining the

points A(-1,3) and 

B(9,8) such that  . If P lies on the line

 , find k .

Watch Video Solution

=
AP

BP

k

1

x − y + 2 = 0

11. Do the points joining L(6,4), M(-5,-3) and

N(-6,8) from a 

triangle ? Mention the type of triangle so

formed .

Watch Video Solution

https://dl.doubtnut.com/l/_oRttSsulIiM5
https://dl.doubtnut.com/l/_BjeJWZTRXOGs


12. If the
 points 
 and 


are
collinear and 
 , find

the
values of 
and 
.

Watch Video Solution

A( − 1,   − 4),   B(b,  c)

C(5,   − 1) 2b + c = 4

b c

13. Verify whether P(-2,2) , Q(2,2) and R(2,7) are

the vertices of a 

right angled triangle or not by completing the

following acitvity. 

https://dl.doubtnut.com/l/_BjeJWZTRXOGs
https://dl.doubtnut.com/l/_W28kA2ynRiiu
https://dl.doubtnut.com/l/_ijoIRbhlhAvB


Assignment 6 5

 …(1) 


 …(2) 


 ...(3) 

from (1),(2),(3) 

 

 


 a right angled triangle [is /is

not]

Watch Video Solution

PQ = √[2 − ( − 2)]2 + (2 − 2)2 = □

QR = √(2 − 2)
2

+ 97 − 2
2

) = 5

PR = √[2 − ( − 2)]
2

+ (7 − 2)
2

= □

PR2 = □ , QP 2 + QR2 = □

∴ PR2
□ PQ2 + QR2[ = or ≠ ]

∴ △ PQR □

https://dl.doubtnut.com/l/_ijoIRbhlhAvB
https://dl.doubtnut.com/l/_pvcS1PutUcRH


1. Show that points A (-4, -7), B (-1,2) , C (8,5)

and D(5,-4) 

are the vertices pf rhomus ABCD.

Watch Video Solution

2. If A(-14,-10) , B (6,-2) is given . Find the

coordinates of points 

which divide segment AB into four equal

points .

Watch Video Solution

https://dl.doubtnut.com/l/_pvcS1PutUcRH
https://dl.doubtnut.com/l/_axoVNl2OfkXz


3. A (-2,-1) , B (1,0), C (4,3) and D (1,2) are the

vertices of 

 ABCD then 

Using midpoint formula , find the coordinates

of midponts of join 

of A and C .

Watch Video Solution

□

4. A (-2,-1) , B (1,0), C (4,3) and D (1,2) are the

vertices of 

https://dl.doubtnut.com/l/_dmlKuHt8qitF
https://dl.doubtnut.com/l/_59bfEePo57Km


 ABCD then 

Using midpoint formula , find the coordinates

of midpoints of 

join of B and D .

Watch Video Solution

□

5. A (-2,-1) , B (1,0), C (4,3) and D (1,2) are the

vertices of 

 ABCD then 

Using midpoint formula , find the coordinates

□

https://dl.doubtnut.com/l/_59bfEePo57Km
https://dl.doubtnut.com/l/_IotgFKwi1mPP


of midpoints of 

join of B and D .

Watch Video Solution

6. If the
 points 

and 
 are the
 vertices of a

parallelogram taken in order, then find the

values of 
and 
.

Watch Video Solution

A(6,  1),   B(8,  2),   C(9,  4)

D(k,  p)

k p

https://dl.doubtnut.com/l/_IotgFKwi1mPP
https://dl.doubtnut.com/l/_5M9kRs0lbWAH


7. If the point P(x, y) be equidistant from the

points A(a + b, b - a) and B(a-b,a+b) , then

prove that 

Watch Video Solution

bx = ay

8. 
 and 
 are the

vertices of 
 . The
 median from 
 meets 


in 
. Find the
coordinates of the point 

.

Watch Video Solution

A(4,  2),  B(6, 5) C(1,  4)

ABC A

BC D D

https://dl.doubtnut.com/l/_MNnJgJ53b5Ax
https://dl.doubtnut.com/l/_fK46ZfLPp8gR


9. A(4,2), B(6,5) and C(1,4) are the vertices of

 


Find coordinates of points P on AD such that

 .

Watch Video Solution

△ ABC

AP :PD = 2: 1

10. 
 and 
 are the

vertices of 
 . Find the
coordinates of the

points 
 and 
 on medians 
 and 

A(4,  2),  B(6, 5) C(1,  4)

ABC

Q R BE CF

https://dl.doubtnut.com/l/_fK46ZfLPp8gR
https://dl.doubtnut.com/l/_A9Go1NvhexKT
https://dl.doubtnut.com/l/_IRwAVXYzZi03


respectively
 such that 
 and 


. What do
you observe?

Watch Video Solution

BQ :QE = 2: 1

CR :RF = 2: 1

11. A(4,2), B(6,5) and C(1,4) are the vertices of

 Using centroid formula , find

coordinates of centroid G .

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_IRwAVXYzZi03
https://dl.doubtnut.com/l/_yijfyNT3aegj


12. Show that the points P(2,1), Q(-1,3) , R (-5,-3)

and 

S (-2,-5) are the vertices of a square .

Watch Video Solution

13. If (7,-6), (2,k) and (h,18) are the vetices of a

triangle and 

P(1,5) is the centroid , then find the values of h

and k .

Watch Video Solution

https://dl.doubtnut.com/l/_3DYmVD7xKq9M
https://dl.doubtnut.com/l/_U9VaHTXpaT8K


https://dl.doubtnut.com/l/_U9VaHTXpaT8K

